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NEW QUESTION 1
Refer to the exhibit.

FortiGcate # diagnose sys session list

session info: proto=l1l proto state=00 duration=25 expire=34 timeout=0 flags=00000000
socktype=0 sockport=0 av idx=0 use=3

origin-shaper= B

reply-shaper=

per ip shaper=

class id=0 ha id=0 policy dir=0 tunnel=/ vlan cos=0/255

sta t‘.e;di rty m;ymdi rty - -

statistic(bytes/packets/allow err): org=84/1/1 reply=84/1/1 tupless=2

tx speed(Bps/kbps): 0/0 rx speed(Bps/kbps): 0/0

orgin->sink: org pre->post, reply pre->post dev=5->4/4->5 gwy=192.168.73.2/10.0.1.10
hook=post dir=org act=snat 10.0.1.10:2246->8.8.8.8:8(192.168.73.132:62662)

hook=pre dir=reply act=dnat B.B.8.8:62662->152.168.73.132:0(10.0.1.10:2246)

misc=0 policy id=1 auth info=0 chk client info=0 vd=0
serial=00000a2c tos=f£f/ff app_listzu app=3 url cat=0
rpdb link id= 80000000 rpdb svc id=0 ngfwid=n/a
npu_state=0x040000 g

total session 1

Based on the exhibit, which statement about FortiGate re-evaluating traffic is true?

A. The type of traffic defined and allowed on firewall policy ID 1 is UDP.
B. FortiGate has terminated the session after a change on policy ID 1.
C. Changes have been made on firewall policy ID 1 on FortiGate.

D. Firewall policy ID 1 has source NAT disabled.

Answer: C

NEW QUESTION 2
Refer to the exhibit.

config system virtual-wan-link

set status enable

set load-balance-mode source-ip-based

config members

edit 1

set interface “portl”
set gateway 100.64.1.254
set source 100.64.1.1
set cost 15

set interface “port2”
set gateway 100.64.2.254
set priority 10

Based on output shown in the exhibit, which two commands can be used by SD-WAN rules? (Choose two.)

A. set cost 15.

B. set source 100.64.1.1.

C. set priority 10.

D. set load-balance-mode source-ip-based.

Answer: CD

NEW QUESTION 3

Which statement defines how a per-IP traffic shaper of 10 Mbps is applied to the entire network?
A. FortiGate allocates each IP address a maximum 10 Mbps of bandwidth.

B. Each IP is guaranteed a minimum 10 Mbps of bandwidth

C. A single user uses the allocated bandwidth divided by total number of users.
D. The 10 Mbps bandwidth is shared equally among the IP addresses.
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Answer: A

NEW QUESTION 4
What are two reasons why FortiGate would be unable to complete the zero-touch provisioning process? (Choose two.)

A. The FortiGate cloud key has not been added to the FortiGate cloud portal.

B. FortiDeploy has connected with FortiGate and provided the initial configuration to contact FortiManager
C. The zero-touch provisioning process has completed internally, behind FortiGate.

D. FortiGate has obtained a configuration from the platform template in FortiGate cloud.

E. A factory reset performed on FortiGate.

Answer: AC

NEW QUESTION 5
Which statement is correct about the SD-WAN and ADVPN?

A. ADVPN interface can be a member of SD-WAN interface.

B. Dynamic VPN is not supported as an SD-Wan interface.

C. Spoke support dynamic VPN as a static interface.

D. Hub FortiGate is limited to use ADVPN as SD-WAN member interface.

Answer: A

NEW QUESTION 6
In the default SD-WAN minimum configuration, which two statements are correct when traffic matches the default implicit SD-WAN rule? (Choose two )

A. Traffic has matched none of the FortiGate policy routes.

B. Matched traffic failed RPF and was caught by the rule.

C. The FIB lookup resolved interface was the SD-WAN interface.
D. An absolute SD-WAN rule was defined and matched traffic.

Answer: AC

NEW QUESTION 7
Refer to the exhibit.

id=20085 trace id=5087 func=print pkt detail line=5588 msg="vd-root:0 received a
packet (proto=6, 10.1.10.1:41370->31.13.80.12:443) from port3. flag [.], seq 1213725680,
ack 1169005655, win 65535”

id=20085 trace id=5087 func=resolve ip tuple fast line=5669 msg="Find an existing
session, id-00001cad4, original direction”

id=20085 trace 1d=5087 func=fw forward dirty handler line=447 msg="blocked by quota
check, drop”

Which statement about the trace evaluation by FomGate is true?

A. Packets exceeding the configured maximum concurrent connection limit are denied by the per-1P shaper.

B. The packet exceeded the configured bandwidth and was dropped based on the priority configuration.

C. The packet exceeded the configured maximum bandwidth and was dropped by the shared shaper.

D. Packets exceeding the configured concurrent connection limit are dropped based on the priority configuration.

Answer: A

NEW QUESTION 10
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